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fachEBE:
= wyypoh ©dhFFSTRFk i las T
= sflahaet myyJ K€Y Aghldgsikhel i liaj njuTnraf.

01.0 gdtUk $wWFSs E=ghfg nghUsjay NfhlghlbwFg nghUjjkhd $wW vJ?

1l
U
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U
i

02.

000

I s |

e e Y s Y Y e
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(1) cssibd tviyajifugt viy kllk cauvtjwFT fhu=zkhFk.

(20 nkhjj cwgjjiad torrn eiwnjhoy kllk tornai ltywFf fhu=khFk.[
(30 tlbtj torrn g=zjjid Nfst mjfuggjwFF fhu=khFk.

40 g=z eukgyid mjifugG tlbtj tornfFf fhuzkhFk.[

B)Y vyiy tistd torr vyiyr nryT mjfufff fhu=zkhFk.

Fwj jnthU nghUshjhujjid cwgjjir rhjjia vyiyiaf fhliLk tiuglk fNo jugglLssJ.

yg=zlk
A

>xg=zlk

i 0

NkYss cwgjji rhjja vyiy tisNfhlbwFg nghUjjkhd kfr ruahd $wiw gdtUk

vi lfsyUed njuTnraf.

(10 xNu ,d tsqgfs cwgjjiffhfg gadglLjjgglLssd.

20 cwgjpay rk msthd njhoy Elg Kiw gadgLjjgglLssJ.

3 Xudk myyhj tsqgfs cwgjjiay gadglLjjgglLssd.

Al tsgfsd gisjwdy khwwk VwglLssJ.

B)I xU njhoyry <LgLjjggll tsqgfs kwiwa njhoyiYk mNj tjjjiy <LgLjjggl
KbAK.

0 0 0 0 000ooOooooooo

kjjia pllkly nghUshjhuk xdwy tiyad njhowghlhdJ»

()0 vdd nghUis cwgjj) nraa Nt=zLk vdgij kjjia jillkly FOtwF tofhlLjyhFk.

QU cwgj jlahsufSTF ,yhgk <lbfnfhLggjd %yk Jl=zlyfis toqFjyhFk.

(30 mUirkahd tsqgfis khwWj njuTfSThiEINa ggfL nrajyhFk.

(4) nghUshjhuf nfhsiffis jillkLtjwfhd fUtiahf mikjyhFk.

5) FbjjdjIdswadui INa fhu=z) tUkhdg gukgiyj jJukhdijjyhFk.[ a0 I I

'rei jg nghUshjhu Kiwi kayy EfuNthu , iwik fh=zggLfidwJ" vdgi j gdtUk vFffhu=z
%yk tisTfyhk? [

(1) EFfuNthUFFj NjEtahd g=zlqgfs reij %yk toqgfggly.

(21 EfuNEhUTF mjjiahtnag gz lqfis khjjuk togFtjwF muR tofhlLjy.

(30 JkJI ©WUggggb Coajij khwwetjwF CoaUfFr Rjejuk fh=zggly.

(40 EfuNthiug ghdfhff muR iy FfFlLgghl il mKygLjjy.

6 ,awifj jdAuik emyiknahdW reijay th=zggly.

J
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(05" cwgjjir rhjjia tisaay css vyyhg GssifsiYk vjughufggLk eiy ikl )
0 (1) tsggqgflbd widjjwd MFK.[ (2)0 nghUshjhujjid vidjjwd MFk.
i ) cwgjyad gidjjwd MFKk.D Al wiyAWjj jdik MFk.
0 (5) cwgjjig gqflbd eahajJtk MFk.
06. Fwjj g=zInkhdwd iy mjifufFkNghd mjd NfstadsT Fiwtjy nrythfFr nryYjJdk

tUkhdg gjiyIL ©isT
i (1)U rhuG Wiy Fiwej gzlqfis EfuNthu ehLjy
0 20 g=zl1jjd tiy mjfuggdNghd nkatUkhdk mjifujjy
I (3) g=ljjy iy mjfuggdNghd nkatUkhdk torrnailjy

4) Fwjj g=zljjd tiy vjufhyjjiy FiwAk vdw vjughuggy Nfstimaf Fiwjjy

G)X g=zljpy iy mjfuggdNghd g= tUkhdk Fiwed Nfst Fawtiljyl 00000000
070 ,Utifg g=zlgfsd tiykhwwj i jAKk cwgjjiahsud tUkhd khwwj i JAKk fhiLk milti=

gd€tUKhW;

gatillik] | by aFEROG]| cbofFahsn idishel ishiimwls
A 10% 5%
B 20% -10%
NkYss juTfisg gadgLjj) A B Mfila g=zlgfsid Nfstad tiy nefiornia ruahff
fhiLk ©il
A gzl fict BEstidc My B gailjfcl BEsticict day
aefiors aefiprs

(10 | nefiorrawwd myF neforr

(@) [myF nefiorn nefiorrAssJ

(3) | nefiornawwJd nefiorrAssJ

(4) |gu=z nefiorrnAssJl guz nefiornawwJ

(5)I [nefiornAssJ nefiorrnawwJ
08. FwgglInthU g=ljjid eukgy rkdghL Q. =-30+5P MFk. ,gF eukgy nefiornad jdik

gwa ruahd $wwiid gdtUk ti lfsyUed njuTnraf.l

. Hay mFEifekighd
: ghkoy QefprA- AefOrAE Bamfk khilk DFK

O | xdiw ©lf FiEwAKD mjFufFk

(2) |xdiw wlf FiwAkl tornai 1AKL

3 [xdiw ©lIf SHLKL torrai 1Ak

(4) [xdiw ©If $SLKD mjfufFk

()1 [myF nefiorn khwwkyy 1y
09.0

> njhi f
-4

i NkYss tiugljjd gb AGssay S;/S,IMfia eukgy tisafsd eukgy tiiy nefiorrnfs

K 1 wNax[ll
i (1) 08ck 1.2 ck MFk. (2) 08ck 1l5ck MFkI (3) 1.0ck0.8 ck MFk.
\_ 4) 1.25ck 05 ck MFkI (5) 125ck 08ck MFk.I I )
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(10. Q,=30-2P )
Q, =14 +2P
Nkwfhllggll Nfsty eukgy rkdghLfisg gadglLjjr EfuNthu kiimfiaf f=iggllhy
fim IfFk ngWkj
i (1) &. 180 (2) & 220 (3) &. 440 (4) & 1210 (5) &. 242
11. gdtutd xU g=zljjid ki ff NFstr rkdghLk> eukgy rkdghLk MFk.
I Q,=28-7P
i Q,=-8+6P
I ,qF rkeiiy tiiyAk njhi fAk KiwNa
i (1) &[4, 160myFfs [ )0 &.[4,056ImyFfsl (3) &.07,20 myFfsl
I (4) &.016,034ImyFfsl (5) &.[028,156ImyFfsl I 0 oioooo O I
i I I I I I I (0ooooooo
120 FwgglinthUu g=zl1jJfF myF tu tjffggll rejuggjujf TFhiLk +tiuglk TNo
fhilgglLssJd. [
I
iy
A S+t
P A i
b B
c |D
P
E |F
P 3
D _,njhif
. o Q& Q
I tiugljjd gb tu mwtlggllgd> gdtUk eiyikfsy vJ ruahdJd?
wfidct gel . Olorz o[BS
aghyshghy kagl BWF B9 Bokhail | o e ovi Bramfs
(1) A+G B+C+E D
2 A+D B+C D+F
(3) D+F B+C+E D+F
4) A+G B+C+E D+F
(5) G+F B+C F
130 Fwggll xU gzljjwF muR myF khdiak togfia gd fh=ggll reij eiyik fNo
thilgglLssd. 7 7 -
tiugljjid gb khdajjdhy muRFF VwgLk S%Y
nryTk ,offggLk r%fey NritfSk gwwa
gdtUk ngWkjifsyy ruahd ngWkjfFi st fhiLk g
vil ahJd? 50
khelagadEf£ha oY Folo] i L
oy Qryd) rpE gy Nratfs 0 F-=-=-Xx~---
1
(1)1 | & 4000 &.1000 30 !
(2) | & 8000 &. 500 20 i
(3) | & 4000 &. 500
@) | & 6000 &.1000 10 5
(5)0 | & 8000 &.1000 O 100 200 300 400 500 600 > et
. J
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tiuglk FhlLfdwd.

0 Ptiyia tisjwdhfg gadglLjjf

T (@ cwgiy .yhgjjy Nruffgglk.
I (3) EfuNthu kii faad xU gFjahFk.
(4) mur tUkhdjjiy NruffggLk.
(5) cwgjjlahsu ,ofFk xU
gFjahFk.
i 00000m i i i i
15.

0

16.000gdtUk tiaugljjy ThllgglLss ewtdk njhlughf cqgfshy VwWfnfthssf$Sba Bwiwj

A
i 0 (20 EGssfFuantsalL klljjyewtdk
nghUshjhu ,yhgjij cioffiwd.
i 0 3 EIN GssifFua ntsalL klljjy
Pop="""7777 ewtdk ellki IfwJ.
i 0 (40 ewedjjd Fwgfthy eukgy NfhL>
P AR=MR E [ GssiaylUed NkyNehffir ruAk
vy iyr nryTf NfhlhFk.
i : 0 50 ewtdjjd Fiwejglr eukgy P
0 5 > ntsal MFk.I [ 0 0 0 0
00 I )

nthss thagG fiiljjhy>
badJdk dil,dJk ngWkjifs>
1) lcwgj ! ki Fad xU gFjahFk.0

ntsialL
A

FwgglInthU g=zl1jjwF murdhy cauejglr iy tjffggll rejuggnkhdwid gpdtUk\

cauejglr iyl

njhif

iy
A
D
S
a
P2
b C
P
d e
mP, -
Q. Q GQ -

FWwgfthy cwgjjir nrawghlby khWk cssLfs mjfufFkNghd vyiy tisTk ruhry
tisTk khWk tjk gdtUk tiruglk %yk fhllgglLssJ.

AP

01

NkYss tiugljjdgb L1,yUed LIMF khWwk cssLfis mjfufFkNghd FwWgfhy ruhru
khWk nryTk vy iyr nryTk khwwk i 1Ak ruahd tjk gdtUutdtwWs vJ?

> khWk cssL

sohe) khifils Qe @yl Qryd)
(D] torrai 1Ak torrai 1Ak
(2)| torrnam 1Ak m jifufFk
3) [ myfufFk mjrfufFk
()| mifufFk torrai lAk
()] MyfufFk eiyahff fh=zgglLk

njuTnraf.
iy /nryT /tUtha

1 ()0

ewtdjjd ,yhgk crrkiltd E
GssifFua ntsjalL klljjyhFk.
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s s s S s (R |
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19.

€ iIwNghlb ewtdk xdwd nryT> tUkhdk vdgd gdtUk tiuglk %yk fhlIggILssd.\

nryT/ iy
A

ATC AVC
40 \ \ ) / MR/AR

35 [ ooooo N -4
{0 [ N

> njhif

0 0 15 20

NkNy FwgglgglLss ewtdk g=zljij twgid nraAk tiy & 400vdd> Fwqgthy
,yhgjij crrggLjJdk cwgjji kllk nghUsiay ,yhgk> nkhjj eidiyahd nryT> nkhjj
khWk nryT vdgtwiwr ruahff fhiLk il ahJd?

@yhogdd Aghdsfiay | Gkhij @dyahc | akhif khwk
cerogkiak @yhgke aryd; aryd
cigd§ ikl

M 15 75 150 500

2% 15 75 150 550

134 20 100 150 550

M 20 100 200 450

54 20 100 200 700

nghUshjhunkhdwd tsg gadghlby cssiffggLtd>

(1)I nkhjj csehlLr nryTk nghUlfs Nritfsd ,wFfFkjig ngWkjiAkhFk.[0
(2l nkhjj csehlL cwgjjiAKk nghUlfs Nritfsd VwWkjig ngWk jiAkhFk.0000
(3 EFfuTr nryTk nghUlfs Nritfsd VwWkjig ngWkjiAkhFk.0000

(40 nkhjj csehlL cwgjjiAk nghUlfs Nritfsd ,wFFkjig ngWkjiAkhFk.I000
(5)0 nkhjj csehlLr nryTk nghUlfs Nritfsd VwWkjig ngWkjiAkhFK.0000

Fwggl InthU nghUshjhujjiy ,wggu ghy cwgjjiaad ngWkj: 10,0000 kiyyiad &ghthFk.
,wggu \I1 cwgjjary Gjijhf $llggll ngWkj) 18,000 kiyyiad &ghthFk. ,tTssLfsd
%yk ,wggu ghj=zifs cwgjji nraaggllhy ,€t midjJ cwgjjfsd KOg ngwWkj) 72,000
kiyyiad &ghthFk. vdNt ghj=z cwgjjir nrawghlbd $lhlggll ngWwkhdgfsid nkhjjk
(1) 56,000 kiyyiad &ghthFk. [ (2) 44,000 kiyylad &ghthFk. [

(3) 26,000 kyyiad &ghthFk. [ (4) 18,000 kiyyrad &ghthFk.

(5) 10,000 kiyyiad &ghthFk.

nrdkj; eY it njhlughd juTfs ny fNo fhllgglLssd.

0 wjjf ki gjI ,ylIrk mnkuff nlhyufsy [ —94090

0 NraitfF f=fF Kkjj [ 0 0 001250
tUkhdf f=fF kji [ 0 0 0 —1148

Njra f=zfFfsy NkwSwggll ngWkjifs %yk VwgLk ghjiggid ruahff fhiLk il
vJ?

(Il nkhjj csehlL cwgjjiia gl nkhjjj Njrna cwgjj mjfujIdssIl

(20 nkhjj csehlL nryit tl nkhjj csehlL cwgjji mjfujIssI.0l

(3)0 nkhjj csehlLr nryit ©l nkhjj csehlL cwgjjiad kjhd nryT mjfujIdssdl
(40 nkhjj csehlL cwgjjr nkhjj csehlLr nryit tvlf FiwedssJ.

(5) nkhjj csehlL cwgjj» nkhjj csehlLr nryTfFr rkkhfTssJd.

J
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(21, %ba nghUshjhuk xdwd EfuTr rhuG C =100+ 0.8Yd MFk. jddrirahd tu 100, mur)
khwwy nryT 800Mfatwiw muR el IKEwggLjjidhy mjd jhffjij xggll gdduhd
EfuTr rhugadr ruahff fhiLk ©wil vJ?

(&t C=84+0.8Y (2) C=84+0.8Yvd (3) C=104+0.8Y
(4) C=116+0.8Y (5) C=120+0.8Y

22. %ba nghUshjhunkhdwd nkhjj ntsiggharry rhuG khwwkilej tjk gdtUk tuggljjry
TfhilgglLssJd.
ntsiggharryfs (W)

A
W1
W2
N,
0 ~ 4 > nkhjj tUkhdk D'V
i -af i i i i

ntsiggharry rhuG khwwk i lej gddu nghUshjhuj jid jddirirahd nryTf F=TfKkK rkejiy
Njrna tUkhdjjy VwgLk ghjigGk ruahff fhllggLk il vJ?
[ jpddiaraha Grydf BaEkl[[Irkgdyd Ufa didishatik

23'

24,

/I:II:II:II:I

(& mjFufFkIO torrianm 1Ak

(2¢ tornaim 1AKL mjfufFk

(3¢ mjFufFKkI m jfufFKkI0

(44 mjFufFKkI0 khwhJ

(5¢ tornas 1AKIIIIII00000OOOOOOOD torra i LAKIII0000000000000

vsia nghUshjhunkhdwd vy iy EfuT ehllk eiyahf ,UFfFkNghd nkhjjr nryTr rhuG

NkyNehffi ngaurrailej tjk gdtUk tiugljjyy ThllgglLssJd. ,gnghUshjhujjid
Fzfk> E, nkhjjr nryTr rhugwfikthd vdgtwWfFua Gjja rkejiy tUkhdk vdgtwiwf
fhiLk ©wil vJ? i i i
nkhjjr nryT [
AR P 7l Gfa rkgdy tdkhakl ] Y=E
1 4 1300 .-E
2 5 1600
3 4 1600
(4 5 1700
(¢ 4 1500
400
300
0 > nkhj j
tUkhdk
nghUshjhunkhdwy crr nts@alL klljjindg NgZtjwFj Njitahd rkeiayf Nfst

E = 1000 + 0.8YI MFk. ,gnghUshjhujjid c=zik rkenyf
mjfufFkhad VwgLk ©isT>

(1& nka ntsjaL mjfujd Ntiyadikay , ilnts VwglLk.lll

(2¢ nka ntsalL torrailed Ntiyadikay , ilnts) VwgLk.IIIl

(3¢ nka ntsjaL mjfujd g=tff , 1 IntsnahdW VwgLk.I00OO0

(4t nka ntsalL eiyahf ,UfFkNghd g=tff , i lIntsnahdwW VwgLk.[IIII

(5¢ nka ntsiaL eiyahf ,UFfFkNghd g=zrRUFF , i IntsnahdW VwgLk.0l0I [ Dlﬂﬂ

Nfst; E = 1200 + 0.8Y0tiu
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(25. Fwggll nghUshjhunkhdwy e IKiw tiyay nkhjj csehlL cwgjji 1500 gyyad &gh)
MtJld gzrRwNwhllk 75 MFk. tiiy kllk 250MTF fh=zggllhy g= eukgYk nka
cwgj jJAk KrawNa»

0 (10 3Ick 60lck MFk.[I (280 100ck 30Ilck MFk.IID (38 200ck 60lck MFk.
(40 30 ck 375 ck MFk. [ (580 60Ick 375lck MFk.I [ 0 1l

26. Nfstj Ji=zly gz=ztffk xdwwfhd fhuzkhf mikaf $badl

0 (1 g=z eukgy Fiwtiljy MFk.II (26 mur nrytdqfs mjifujjy MFk.[

(3t b tjqgfs mjfujjy MFk.[ (44 tUkhd tuw mjfuffggly MFK.II

0 (B¢ ,wfFFkj! cssLfsd iy mjfujjy MFkID [ oo 0 0 0 il

270 ghlu Kiw myyJ gzlkhwwWw Kiw torrailtjy ghjgér nrYjjia Kffia fhu=l

I (1¢ INghFFEujjiry Vwgll , TughLfs

i (2t Nrkggjly css nffyfs
(3t rwa myFfshfg guggjlYss nffyfsl

0 (4¢ rllujahd nryYgbahFk jdik ,yyhjUejik

I (¢ ,ulilg nghUedifay fth=ggll ,lughLfsl [ I I I 0ioonm o

28. g=zjjd cjNjr Nehfff NFfstfF mbggi lahd g=jjid njhowghL vJ?

0 (& gukhww CIfKIl (26 ngWkhdj julL

I (3¢ ngWkhdjij mstlLk msTNfhsl (44 gwNghlggll nfhLggdTfsid ejakk

0 (5¢ F=FFIL myFl 0 0 0 0 0 0ooo

29. gdtutdtwWs M)blg=zk awyhggd vI?

I (1& nghdkffglk Gyffjjiy css g=zk
(2¢ nghdkffsid cukk ngww t=F tgfifs)Yss Nfst i tgGffs

I (3¢ nghdkffsd t=f tgfifs)Yss Nrkgs eiyahd §tgGfFfs

i (4 ntsehlL tgfi myFfsy css tjiTsNshud i tgGffs

I (5¢ cukk ngww tNrl tgfifsyy css jdahu §1tgGffs

30.0 Fwggll nghUshjhuk xdwd ejji nyhlughd rny jftyfs fTNo jugglLssd. midjJg
ngWkjifSk gjJd ,ylrk &ghafsy MFk.

0 nghJdkffsid Goffjj)y css g=zk 600

I t=zf tgfifsyy css Goffg g=kl 0 0 200

0 nghJdkffs ngauYss nkhjj mtgcffsl [ [ 1000

I rilujiahd xJ3fF tjkl 0 0 10%
t=f tgfifslyy css nghdkffsd jti=> NrkgG §tgGfs [ 4000

I NkYss jTtyfsid gb nghUshjhujjiy g=zjjisk FWha g= eukgy mbggi lahd g=zgngUTT
vdgtwiwf ruahf fhiLk il vJ?

[ [ gemjpsikll [ amQagldEE

i (1t 800 1

0 (2¢ 900 1.33
0000(3& 900 1.77
000 (440 1200 1.16
0 (5 1800 1.33

31.. €t=f tgfinahdwd lenjhi faYss nrhjJdffs ny fNo fhllgglLssd.l

I A - ifa¥Yss g=zkl

0 B - jJiuwNru Kwfs

I C - kijjya tgfiaay #1tg6r nraaggll g=kl

0 D - jJEwNru czbayfsl]

I E - #§faYss> ntsehlL tgfifsilk mwtil Nt=ba meear nryht=)
Jutjjdikad ,wqgFtuirggb Nkwbwggll nrhjJfs tuirggLjjgglLss il v3?

I (Lt ABCDE (22 ACEDB (3 AEBCD

N (4 AECBD (5%t BACDE )
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4 N
32.0 Fwggll egnuhUtu &gh. 2400 €= tqgfinahdwy §tggyillhu. rlilujiahd xJIFfF tjk

20% vdd> ,t itgig mbggilahff nfh=L tgfadhy fldhffk nraaf$ba crrkllj

njhaH
I (1) &. 24000 MFk. 00O (2)] &. 14 400 MFk. (3) &. 12000 MFk.
I (4) &. 9600 MFk.[I (5) &. 2400 MFk.
33. gdtUk g=lqgfs nghdgg=lk> miuFiwg nghdgg=lk vd ruahf glbay glbaylgglLss

il vI?
0 A-tsk=lykl [ B - .ggfhl I C-Njna ghdfhgGll D -#oy ghJdthgGl
0 E-FflwFiul I F- ngUenjul [

@ghaggatl k] [ lemdaysawy aghddgagilik]

0 @1 ABC D,EF

(20 ABE C,D,F

(3 AC,D B, EF

42 A/D,E B,C F

5)X A/D,F B,C E
34. reijj njhowghLfSId ntsthufis ,i1=jjJ gdduhd cjjk ntsalL klIlk fNo

TfhilgglLssJd.

tiyAk nryTk
A
r%frnryTld $ba eukgy NfhL
Al
/
rof edikAld $ba Nfstf NfhL
Jjdahu edikAld $ba Nfstf NfhL
, >njhi f (myFfs)
01 0 10 i 0 Q Q
0 NkNy (Q,-Q) > (A-B) Mfiatwwd %yk fhllgglLsstwiw ruyahff FwgglLk tiEl vJ?
Q,-Q) (A-B)

(1) reijad Fiw EfuTI ntsithy edik

2 reijad kiif EfuT ntsithy ed ikl

©)) reijad ki f cwgjjill ntsthur nryT

@) reijad Fiw ETuTI ntsithur nry Tl

(5) reijad kif EfuT ntsithur nryTIl
0oooo
35. Fwjj XU M=zbd mur tu tUkhd khwwjjid tUlhej tfjhrhuk 48% MFKk. reij tiiyay

nkjj csehlL cwgjjiadd tUlhej khWk tjk 60%IMFk vdid> , gnghUshjhujjid mur tu

tUkhdf F=fk vdd?
i (1)0 0.08IMFk.I0 (2)0 0.8IMFk.  (3)I1.250MFk.I (4) 1.5IMFk.0 (5) 8IMFk.
36. ks Rowrp mur egjf nfhsifad fo nghUshjhuf nfhsif tFgNghu nrawgl Nt=ba

jjijf fhlLk kfrryahd $ww vJ?
0 (0 nghUshjhug gdd i ItdNghd mur nryTfisf FiwjJd tufisf $11 Nt= LK.
i (2l nghUshjhug gdd i ItdNghd mur nryTfisAk tufisAk mjfuff Nt=Lk.

(3) nghUshjhu tuthffj jidNghd mur nryTFisAKk tufisAk Fiwff Nt=Lk.0000 1]
0 (4 nghUshjhu tuthffjjidNghd mur nryTfisTt $lb tufist Fiwff Ne=zLk[ll [
\D (5)0 nghUshjhug gdd i IttdNghd mur nryTfisf $lb tufisf Fiwff Nt=Lk. D
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37. mzika M=z=zLfsy ,yqgifad csehlL mur nghdggLfldyy ngUkgFjiiag
ngwWfnfthstjwFg gadgLjjggll fld%ykl
0 (DL jriwNru czbay fsUIIIIIOOOIOIIOONN (2) ,yqgifad mgtoUjjg gl =zggjjugqfsl
0 (3) &ghaft fildfslll (4) yjriwNrug g =ggjjuqFsiio
0 B)Y kijpa tgfiaad Kwg=zqgfsl 0 0 0 0
380 ,U ehLfsyy Xu Coajjid nrawwwd fNo fhllgglLssJ.
[Mgal kI X gh 0000y ehi
IELYE § 10 03
7 [ NfhJik 20 12
[ Nkwgb jftyfsidgb ,U ehLfSk edikngWk gukhwW €tjk
00 (@ MEl 1 =INFhJ 1 k130 (2UNFhIa kIl =0ME 10150 (3)] NFhI e kIl =0M i 102
0 40 MiElIl =INFhJ ik 1.50 (5)INFhI a kIl = M 1030 o o 0 (I
390 ,ygifr reijay twgid nraaggLk ,wfFFkj; nraaggll xU Nrhbf fhyzad tiy
&. 5003-IMFk. vdiDk &. 300$-0,wfhd ,wfFkj) nraaggll cssLfisg gadgLjj mJ
,ygifaYk cwgjji nraaggLfwJd. vdNt muR ,wFFkj) nraaggLk fhyz=FSTF 25]0ty
mwtl Thy nrawwwd thaej ghJdfhgG tjk
I (1) 16%IMFk.0 (2)1 40% MFk.D (3)I0 50%IMFk.0
0 (40 62.5%IMFk.0 (5)1 67.5%IMFk.
40.0 xU ehlbd ~,wfFkjiaad nfhstdthwwy| jgfiaUfff $ba kf Kffha fhu=zifs vit?
i (D)0 vwWkjig g=zlIgfs Nritfsid msTk ehzakhwW tjKk
I (20 VwWkjig ngWk j)Ak mur nfhsi ffSk
I 3 g=lIgfs Nritfsd ,wfFkj) msTk ,wfFkj tiEyAk
i A0 tujjf kjiAk eh=zakhwW tjKk
I (5)0 meelar nryht=z ciogGk ,wfFFKkjg nghUlfs Nritfsd tiyAKl [ I (I
410 ntsehlbyiUed filfFk ~Coau ,ogglL| nrdkj eYatf f=ffy gjlaggLtIl
I (1) g=zlgfs Nritfs f=ffiy MFk. (2)0 tUkhdf f=Ffiy MFk.[
0 3 tujjff f=ffiy MFk.[ AlenlKiw khwwy Fz=zFfy MFk.[
I B)X %yjd khwwy Fz=zFffiy MFK.
421 ehza khwW tj kjggwffk tujjf eYitay rhjfkhd nrythffiid nrYjjf $ba
vwWkj) ,wFFkji nefiorrfs KiwNa>
7 ()0 05ck 04IMFk NghjhFk. (2)1 0.60ck 0.2IMFk NghjhFk.
I (3)0 0.2lck 0.4IMFk NghjhFk. (40 0.70ck 0.5IMFk NghjhFk.0
I (5)0 0.3 ck 0.3IMFk NghjhFk.0
I I 0 0 0 I
430 gdtUk vjJiwad njhlurnahd mjfugGé nghUshjhu tsurnahff nfhssgglLfidwd?
0000 (1)liinkhjj csehlL cwgjjlC i
0 (2Q)lInkhjjj Njna cwgjjil
I (3)II nkaj Njna cwgj jll
i (4) rdjnjhi T tsurnfF xggllstiyhd nkaj Njria cwgjj
0 B)lllcrr cwgjji Mwwy[ 0000000000R0000R0000R000000R0D00R0000R0000n0E0D00000000 [
440 FwggllInjhU nghUshjhuk 8%JtUlhej tsurrp Ntfjij mila vjughuggdld meehlbd
KjyIL ntsalL tfijjk 5lvdy> meehL Ng=z Nt=zba KjyIL tjk
I (1)CC 20% MFk.0 (2)1030% MFK.00 (3)035% MFk.0
I (40 40%IIMFK.O (5)1050% MFKk.
J
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(45,1

s s s Y o |

46.0

| s B e R m— |

47.0

000
48.

s s s s s |

49.0

50.0

,ygifad rdjnjhif njhlughd NghfFfs gww MuhAkNghd ,awif tsurr tjKk Njwaa\
FbgngauT tjKk khwwkilej tjk njhlughd kfrruahd il vJ?

lgaydE Gehrf Agkl II8ga Bhyagaid djk

(1) torramledssdl torrailedssJd.

20 torrailedssJdl mjfujJdssJ.

)l myfFfujIdssId.l mjfujIdssI.l

A0 myFujIssIl torrailedssJd.

(5)I torramledssdl grnakhfTssJ.l I I I I [

khdil mgoUjjiia mstLkNghd rwej thoTedyfFj Njitahd fhuzifis cssliffia
tiliaj njuTnraf.

O njuTr Rjejuk> ghdfhgGk rwej r%fj njhluGk

20 rwej Rfhjhu eliy> rwej thofi fFfFj Nj i tahd i tAk eyyhlrAk

) njuTr Rjejuk> eyyhlrnAk ghJdfthgGk

@0 rwej r%fj njhlue ghdfhgGk ghJdfhgghd #oYk

(5)0 ghJdfhgghd #oy> eyyhlrnAk njuTr RjejukKkill i i i qooo
2009/100mwF i fadgb ,yqgifay kfTk tWwik eyTk khtllk vJ7 i

Ml €Tdahl 200 kI FFsgel "340 gJ sl Ml nkhduhFayll % KymyjjTl
0 0

nghUshjhu mgtUjjiia mstlLk RInl=fs ny fNo jugglLssd.

A-IMstj nkhjjj Njra cwgjjil

B -InfhstdTr rfjjia mbggi lahff nfh=1 Mstj nkhjj csehlL cwgj jl
C-IrR ku=z tjki

D -lgwggy MASs vjughugGl

NkNy $wgglltwWs khdil mgtUjjr RiInl=zi=j jahuyffg gadgLjjgglgi ©
(1) AAk CAk (2)IIAAK DAk (3)IIB Ak C Ak
(4)I0 BAKk DAK [ (5)0C Ak D Ak [ 0 0

2012IMk M=zby ,yqifad nkhjj csehlL cwgjjiaay mjif ggfsigér nraj Jiwl

(1) cwgjjf Efjnjhoyl 0 (@Ueukh=j Jiawl
(3)1 nkhjj> nyyiw tiahghukll [ @AllcztfgfsSk tLjfSkK
(5) €gfF FhgGWjiAk nrhjJ twgi dAKD I [ I I I 0000

Fwggll xU ehlbwfhfj jahuffggll Nyhud] tisa rktUkhdf Nfhlbd kJ miked
Tth=ggl lhy> meehlbd fizif F=fTk
()0 crrkhFk.0 (2) 1.5IMFk.0 (3)ILIMFk.[C (4)000.5IMFk.[ (5)I0IMFk.
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80 it 'mil rueNjr tujjfijiy KO edilk xgglL edik vdgtwWffi layhd

Nawighlal HsfsE. [ (03 Gssiifss)
0 0 (MY 00l eciak$ NEnlghlEEs wmbigdlahf mektg vEEdadifhsafshbik? 10
0 0 0 0 (02 Gssiifss)
0 (il tel] egNgr @o§sEjidlEads NFEEGOLFNEGE rhEkhE IccdatEEf SHha
thjgEs ahaa?00000000 (02 Gassifss)
0 00 (S0 sflaysyhy ®ogiEigalEs ahdan?]000000000000000000000000000000 (02 Gesssifiss)
0 (i}l esfiehl s Neob K$5E; glbaygiifooll Kiyifas Gl icfflajadtlk thagjatahts
fhamogtg Ve (04 Gaisifs)
0 (ivill arctls§) gvat giwhEsadnaahcly EzdfhykhEf =£hamoghd wFad Exifd
aratgiyfhe Miyhracdfs ahda®n? (03 Gssiifss)
I Wil gygafad atdehls ef Wyify: atsehlcf fld aghlighf maEakE Ehyd
Ygless khihwdfs ahatn?l (04 Gasifs)
97 Ndl  "mil nghUshjhu tsurnad vjufzja tisTfs ahit?l (03 GasEs)
0 0 tM)0 Aghldshghy mgtid§d waogcthy EWgoobagd ahgd? IIIII0IINNNND (04 Gasifss)
I i) kel aidked wFaooffk khehil mgtid§fanbk.” gfbiay tisEHE. (04 (SsSEsS)
0 ANl "m0 khdil mgoUjjir Rlbayy csslqFk Kffia gdai mkrqfSk ahi €2l
00 0 O (03 Gasifs)
10 (M gyoiikhen ke Rlbdag gahioofy gacgbigoobk dugha gogGFs
aha#i?] (03 Gasifs)
0 tivill @yqdfay guije dfiahff fhamoobk Aghdshihy Yiwjghodtf BawooswEE Fleg
Frhogidy muk Nkyafhal ahffs ahda®t? [ (03 Gasifs)

100%0 ,ygifad rkeiyahd guNjr mgtUjjiia mstL nratjwfFhf ,yqif kjja
tgfiahy jahuffggll RIbiag ngawll> 2011-2012IMk Mz Lfs)y mjd NghfFfis
gnesEEE. [ (03 Gasifss)

0 il kbey fegacad wfithy Nehfb|wclw aghldshjhnE afheafada 20200aay shid;
eiatEEooll -§ajad evEhg @yaaE (Unstoppable Sri Lanka 2020) wely safiEmEalyy
Biigdlgolcessahy 2020 Mbk NRohd mdledafheés wfiohiEbk aghdshihy

oyfEfs ahdw? (03 GEsSiEss)
1 i) gygafad RiWyhE @fjajhody Uil aranjis KdaufffSba fAghiREs
ahd®?] (04 GESIEs)
0 vl G ghalukhk Mazibet mgutiugf NehEErf awdkda KKimhE @yyhaghofEk gy Efda
oyqaf vimsd ok maledafhzbssd vdgjdcd BSEEE. [ (03 Gasifs)
1 w0 4 neBkl Nodwi Pllifid NehffgfasAk mjd efofhyi araighbEdshk
fisEEE. [ (06 GSsefss)

*D*D*






